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(A+i)A—i)A+6i[2-6i)=0
Fr[’erHﬂ I ;I/J;?’f\‘[‘gkgjéﬁff#ﬁ Bt (Characteristic Root) A £
A=—i~ A=i~ A=—6i ~ 1=+/6i

FHEVIVECE (Superposition Principle) ! » F}ﬂ%ﬁj Yoy, E

y, =Cie ™ +Ce™ +Cie V™ +C,e™
= C,(cos x —isin x)+ C,(cos x +isin x) + C, (cos J6x —isin x/gx)+ C, (cos VJ6x +isin x/gx)
= (C1 +C, )COSX+i(C2 —Cl)siner(C3 + C4)cos\/gx+i(C4 —C3)sin\/€x
= Acos x + Bsin x + C cos~/6x + Dsin~/6x

H{14=C,+C, ~ B=i(C,-C,)~ C=C,+C, ~ D=i(C,-C,) «
FIRf o PRIz 3) - ATy,
Y, _1L (ACOS)C+BSinx+CCOS\/EX+DSin\/gx)

+S(Acosx+Bsinx+Ccos\/ngrDsin\/gx)]
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:5_(—Acosx—Bsinx—6Ccos\/gx—6Dsin\/gx)

+5(Acosx+Bsinx+Ccos\/gx+Dsin\/gx)]

= 2Acosx+ZBsinx—%Ccos\/gx—%Dsin\/gx
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Y = Acosx + Bsin x + C cos~/6x + Dsin~/6x

y, = 2Acosx+ZBsinx—%Ccos«/gx—%Dsin«/gx

SEELISE T R A o




(1)
», (1)

. Please find the real general solution y( ):{

} of the following system
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vy =3y,

2ﬁ—3x+y:4e’
Solve { ¥ L [87 W+ A 20%]
dy
x+2—-3y=0
dt

2X' =y +x+y=t
Solve the system of differential equations { Y =t [90 =%+ A F7120%])

X'+y'+4x=3

x"+2x'—x+y' -3y =sint
Solve { e C[93 T B 10% )

X'+4x+y -2y=e"

"+4y'—y=0 )
Solve {", Y X (0)=y(0)=0. [93 15 4£ 2 20% ]
X'+2y=e’






